Offline calibration



Variables definitions:
LY 30 = Meanin the range [30k ; 300k] of the sc_integral distribution
The >>Fe peak is fitted with the Cruijff function and the mean of the function defines the >>Fe peak

Example: run 17400
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Run 3

[17400 ; 23807]
Exp_time =300 ms
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x? / ndf 2.472e+04 /325
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- 3

o, mm | 'mm 1 Ix10

120 140 160 180 200



Fe_peak

16000

14000

12000

10000

8000

6000

4000

2000

+ | Fe_measured

Fe_calculated

23000 24000
run_number



Fa_pealk

12000

10000

BOO0

G000

4000

2000

10 runs are grouped, and the mean value is taken to
evaluatethe Fe_calculated toreduce the fluctuations
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The same procedure for the

Runt)andRun2




Conclusions

Work in progress
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